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Choose the correct answer:

1 Marks 3 | 1 Marks :3
What minimum grade of concrete shall be RCC # e & &0 3 &8 2 A
used in RCC? A¥AFmaga 7

A M5 A M5

B M75 B M75

@ M10 c M10

D Mi5 D Mi5

2 Marks:3 | 2 u.;;:
in RCC lintel, main reinforcement is provided RCC #few &, AEawRAT
ot ﬂﬁﬁdmg’mn

d oottom of he hntel A %g*‘

e : m‘mt:‘:t

C middie of the lintel v

D both side of the lintel p Rza & a4 3%

3 Marks - 3 3 Marks : 3
n & HIUROT 9 & FWE W RCC &

simply supported RCC beam, the value of
BM at supports, will be.......... zmwquwma?%

@ maumum A HOwaw

& 200 B8 A

C twolimes c 2

D three times D a;’?;'m

4 Marks :3 | 4 o Marks : 3
Beams in which, one end is fixed and other Adn A Ruaweat
end is free is called.......... IR gwo B e @ 8, ® A

A fixad beam AdFTmwgat?

B secondary beam A TR aw

: , 8 Zfagos dw

ety s e

D aw

$ Marks:3 |5 Marks : 3
W TROC taners i wt seloR R Rec #@w #, Faw tvw & Fe A vae
provided only in fension zone is called 1 71t A= o= & = e
[ S—— e 87

A tansverse reinforced beam AT g=ardz &=

émmm B ‘rt':a r
. singly reinforced beam c Ra

D doubly reinforced beam D 2Fh Rg=wriz dx

!
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6 Marks:3 | 6 Marks : 3
How many number of minimum main bars falt v% Rec & &\ A ftwaw A=
are provided in a RCC beam? I el v A wme & sl
@ 2 Nos A 2Nos
3 Nos B 3Nos
C 4Nos C 4Nos
D 6 Nes D 6Nos
7 Marks .3 | 7 Marks ; 3
What is the maximum number of steps in T # e A @ yftwan ®a
one flight? # wEm ANt ?
A 18 Nos A 18Nos
B 15Nos B 15Nos
C 13 Nos C 13 Nos
D)\ 12 Nos D _12Nos
D ; Marks:3 | 8 Marks . 3
What is the approximate percentage of steel 7 & Qv e & et
reinforcement required for beam? & 7w e sidwe e S
A 0.721% . 5?72“
B 1102% ~
B 1102%
S 1% c 133&
D 104% D 1o4%
a Marks:-3 | § Marks : 3
Which slabs are supported on four sides? a0 W e A A e o & &
A T-beam slab ﬂ::tdﬁ'wmt?
AT
‘vr§ ?:;:: B -3 ¥w
D Cantiever siab C 2w
D e =
10 Marks : 3 30 s
W".‘"‘:‘ﬁ.m'“;"m“ wmtwaagtam
A 14" of short span & gmwm"m" e g
B 1@'0'”” B mmwmm
(G 178" of short span C R ¥\ w1 voal REw
D 17" of short span D O ®a & Waar e
" Marks :3 | 19 Marks : 3
In some cases the beam provided above the g!m#.ahtyu&vavm
siabis called as.......... T FRT ATAT ' ?
A T beam A Td#H
') mverted T beam 5 T &5
C main beam c =
D continuous beam D #da @=n
12 Marks -3 | 12 Marks : 3
A wall constructed for the purpose of retain T & & & wdise & ek
natural earth bank, is called s AR ® = FY A g7
@ Mmm - mm
& ining wall g
C parapet wall ¢ gRMe daw
D dwarf wal D =% daw
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13 Marks:3 | 13 Marks : 3
What i the minimum diameter of lateral ties RCC Hiaw & Jeiw ziddt & &7 8§
in RCC column? &7 = A & |/ e gar 7

A 10mm A 10mm

B 8mm 8 8mm

@ & mm C 6mm

D 5mm D 5mm

Marks 1 Marks : 3

“hmu-ml.mmnmmﬁw;: AR A @

A M siaal bar Favawa a8 g 7

B Round ber A Fgs A Ao A

C Torque stes! B i ot &

. c Twy #w A

D _Sieel bar p & out A

15 Marks :3 | 15 Marks : 3
A temporary pier made in the river bed is fiatr ¥ & wad @% el R ®
called. .. . A dTsmaat?

A plliar A Rt

B column B ®E#A

© caisson c S5+

D cribs p fss

16 Marks:3 | 16 Marks : 3
if the nominal dismeter of rivet is 30 mm. ;ﬁﬁgmfgm%

diameter of rivet hole? mm
A m”m fam & & faar g 7
A 30mm

8 31mm B 31mm

@ 2mm c 32mm

D 33 mm D 33mm

7 Marks:3 | 17 Marks : 3
A single row of rivets paraliel 1o the edge of 3T @y el & feant & e
the over lapped plates is called as. ... g & o o wga 1 & %S

A single lap joint %I:mmm

O “Sigthsied hp S8 6 o s 29 s

C single lap zigzag joint c RtR &9 BT s

D overtap joint D A9 FF

18 Marks:3 | 18 Marks : 3
In roof trusses, lension member are called oF & auEt A, v & weEn W
P Aawssat 7

A principal rafter A FEE TET

B struts B o

C straining beam c

@ tie beam o )

19 Marks :3 | 19 a8 8 ﬁ:'”"
The of welded can L T
T | e e 0T
100 m apae A 100m & HF 7%

X7 @ﬂmnw B 120m & e &%
C 150m C 150m & &7 &%
e P D 200m & FF &%

m span
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26 Marks:3 | 26 Marks : 3
In seplic tank, iniet and outiet pipes are A % & saT AU FIEAT Y
bent...... AR IR @At ?
é downwards A %am
@/ straight -
C vertical ¢ IR
D side D §BE A
Fi Marks : 3 | 27 Marks : 3
in septic tank, the size of free board Is Aew &= A B A% & IR W DA
A 10cm il
B 15¢m B fhom
C 20cm
C 20cm
@ 30 D 30om
28 = s 28 Marks : 3
i FHar &
ORI i W 100 6y MR
capita in saptic tank? 74
A 100m A 100m
B 01m' B 01m’
c ooim’ c 001m’
D 000tm’ D 0.001m'
29 Marks:3 | 29 Marks : 3
Which is the surface sources of water? O & T T aa A A R W
& River - :lak?
B Springs
C Wels : o
D Infiitration well D ;: f?’
i’ The unwin's formula is. 2 o Wasks : 3
A d“m:’ ; m;x?qzm##mt?
< T B d=65xF
Q d=6541 C d=6si
:‘ g=8b¢t 5|0 =85+t
HMN Ol PG waeels. = i @t g gl § s e 87 e
A0S s A 1R BNEE
B 5108 degrees B 5a8 BN aw
é 6 to 9 degrees c ¥ o BMaw
7 to 10 degrees D 7#® 10 BhGE
2 Marks ;3 | 32 Marks 3
The stab and stall type urinals are generally T i wE gy & kiirrire
provided In........... 9 FE IGEET FAU A 7
A residential bullding A mardy et #
C ‘quertens Cc ¥R A
@ : Soaie p @Baa AR &
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Y] Marks :3 | 33 Marks -3
The trees were planted on sither side of s A @ 5w waw & TS A, § W
roads for giving shade to traveliers and the & ot it ofadt & o ST w1
rest houses were provided during the regime & fRv ger 7T v ¥ T IR I
of FATT A ¥ 7

A Chandra gupta maurya A A AN

B Mohamad tughlaq B HgFg qiew

C Ashoka cC s &

2 5 Marks :3
34 Marks ;3 | 34 :
Alternative roads provided 1o divert traffic to T @ aur W s & [

& &4 &9 39FU g
avoid obstruction, Is called.......... “ml w"ﬂ:"“ e
A W e A foar e
Q owrns N
c

D outer road D gz(a,

35 Marks :3 | 35 Marks :3
Which istands are rarsed areas constructad mmwmmtm
withiin the camage way to provide physical AR WEd & & 30w 3

. channels to guide the vehicular tralfic? e 1= & ey sAv v oftar |

A Traffic island i o FEas wEA £ 7

B Guide lsiend A JEEE HSAUS

C Refuse isiand :%’“ﬁ;’n

D Channefizing istand ¢ mm

% _ Mok 3 | 38 Marks :3
A road which carry above 600 vehicies per vF §Iw fow o wiRaa e00 ¥ 3w
day is caled........... aEw aWa 8, W = wea £ 7

§ vary heavy iraffic road A xmmm

B heavy traffic road B8 FraTaE 0%

C  medium traffic road c :;amaﬁ?

D light traffic road D arara

37 Marks :3 | 37 Marks -3
Which one Is a circular curve that consists of mmmmmkma
a single arc of uniform radius as tangental o U AR B W U WE WS
botn the stragnt ine? ZiA dnhy wsat ¥ ww o w Y

FmAdTE?

W simpis curve A HURT W

¢ N s -

c Er

D Transition curve D THRATT TH

38 Marks ;3 | 38 Marks 3
Which of the following 1s provided at the top T WY SR A A A e a9
of vent pipe? s R E?

A Outlet pipe A JI3TAT BT

B8 Fresh air inlet B mw*m

c ™ e

@c«m
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39 Marks :3 | 39 Marks :3
The vertical cutting of river - bed is known 7 & 42T AR afww wen W e
2. TR A ST S 7

A runoff A aFE

\3 affiux B war

C scour c aftwras

D cribs D f&sw

40 Marks -3 | 40 Marks :3
The end support of a bridge superstructure is g: e & yfawn st &
KNOWN as........ AFamE T IATE?
wind wall A fi® of
abutment B WUR

C pier (]

D retaining wall D ffdw ofw

41 Marks :3 | 41 Marks :3
A bridge composed of several small spans TH WA & 97 &7 & R 33w o
for crossing a valley is called as...... mmamwmmgnﬂ

A an aqueduct L2 I A
tias L

C oot bridge c % e W

D highway bridge D ua:m?wr(}a

42 Marks :3 | &2 Marks :3
According to the road engineers, the major W*W*W.“Wﬁ
brdges are constructed in the span of ... e T AT a7

A Emwism ASRFsASETA

B 15mio20m B 5MFaoMsaEad
20mio30m C20MAAFTATA
bver 30 m D WAFFEF AT A

43 Marks 3 | 43 Marks -3
If the bridge is constructed at an angle of 90° ‘ﬁﬂwﬂmﬁmﬂm
1o the direction of flow, It is called. B & W & Ser € A 9

L 2.5 i S

A skew bridge A T 9

(3" staight brdge B #ur 9w

C suspension bridge c m!w

D RCC bridge D RCCYW

“ Marks 33 | 44 Marks :3
In India, the first train was run in between..... i A oS W Sas w7

A Madras to Arakkonam A FUE & FOWEH
Madras lo Madurai el mag

to Thane c Tt 3
Delhi to Caicutta D & A sawa

45 Marks :3 | 45 Marks -3
What is the size of broad gauge? Ly e g ord Sl i
1676 m A 1676m

g 1787 m B 176Tm

C 1687m C 1667Tm

D 1.782m D 1762m
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46 Marks :3 | 46 Marks :3
IRC stands for............ RC® RAefa B
ingian Road Congrese A Indian Road Congress
B Indian Road Coundil 8 Indian Road Council
C Indian Road Corporation C Indian Road Corporation
D Indlan Railway Commitiee D Indian Rallway Commitiee
47 Marks :3 | 47 Marks :3
What is the minimum depth of ballast for s & Bv swiee @ s A &N
broad gauge? L2t B S
q 15 cm B 15cm
C 18cm C 18cm
D 20cm D 20cm
48 Marks :3 | 48 Marks :3
As per the recommendation of railway board, wa @t & ey & R, IF §
what is the minimum distance between L s T U S
cantre of track? A 4250m
A 4250m B 4620m
8 4620m c “mm
o 4szrm D 4szrm
49 Marks 3 | 49 Marks :3
Disc signal Is also known as..... B fAawa & 6w aw J 0 s
Far 8?7
A shunting signal e W
B outer signal A 3
B 33T #6d
C home signal P mm
B e ape D TWRT T
. The minimum length of platform in B.G = 2
: BG #a 2% # NowA # &H A &
rallway track is............ ° Frh
A 183m A 1“:3‘?“ mn
8 20m 8 200m
€ 250m C 250m
D 30m D 300m
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